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Part A: Vocabulary and Grammar

Directions: Choose the number of the answer (1), (2), (3), or (4) that best completes the sentence.
Then mark your choice on your answer sheet,

She's not very ---------- in the way she treats her children; they may be punished today for
something they were rewarded for yesterday!

1) dominant 2) restrictive 3 ) consistent 4) proportional

She has the ---------- of being one of the few people to have received an honorary degree from
the university this year.

1) extraction 2) detection * 3) distinction 4) simulation

Financial ---------- on the company are preventing them from employing new staff.

1) resolutions 2) deductions _ 3) approaches 4) constraints

The pattern --------—- from our analysis of the accident data shows that bad roads are
responshible for the majority of accidents.

1) occurring 2) assuming 3) identifying 4) emerging

The changes t¢ the national health system will be ------—-~- next year; people won't have to
worry about long waiting lists for hospitals anymore.

1) converted 2) intervened 3) accompanied 4) implemented

The course is essentially theoretical in
before you can apply for the job.

-, but you'll need some practical work experience

1) process 2) function 3) orientation 4) exploitation

The report suggests that there has only been a(n) ---------- improvement in women's pay over
the past few years.

1) ultimate 2) eventual 3) marginal 4) enormous

She gave me this jumper, which she had -----—----- herself.

1) knitted 2) knitted it 3) been knitted 4) been knitted it

The teacher suggested that Ali --—---—--- the lesson at least twice before taking the test.

1) reviews 2) review 3) reviewed 4) reviewing

He was in such bad shape and asked for my help. It was impossible to - -

1) refuse 2) refusing 3) refused 4) be refused

| Part B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
blank. Then mark your choice on your answer sheet.

Hurricane Floyd, one of the most powerful storms ever (11) -----—-—-- -~ in the Atlantic, has pounded
the Central Bahamas and set its sights (12) ---------- Florida. The storm brought heavy rains and
strong winds of up to 200 kph., (13) ---------- residents sought refuge in boarded up homes.
Forecasters say Floyd is capable of (14) ---------- destruction and the states of Florida and Georgia
have ordered more than two million people (15) ---------- the Atlantic shoreline.

1) recoding 2) to record 3) recorded 4) was recorded

1) to 2) on 3)in 4) from

1) as 2) that 3) whose 4) which

1) mass 2) a mass 3) the mass 4) that mass

1) evacuated 2) to evacuate 3) for evacuation 4) evacuating
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PART C: Fill in the blanks

Transverse effects are present in ----—---—-- flow, but their effects are much smaller than the lateral one.

1) subsonic 2) supersonic 3) turbulent 4) transonic

The main cause of wing stall is ——---—----- .

1) flow separation 2) turbulence

3) high Mach number 4) roughness of the wing surface

------ is a phenomenon in which undesired vibration can lead to serious structural damages.

1) Resistance 2) Flutter 3) Filteration 4) Critical damping

The effects of viscosity are confined to the --————---- .

1) boundary layer 2) far field of flow domain

3) thermal layer 4) viscous and turbulent regions

Kelvin’s theorem leads to the important conclusion that the entire flow remains ---—----- in the absence
of viscous effects.

1) stationary 2) steady 3) laminar 4) irrotational

Most of the internal noise comes from high speed rotating -—-—--—-- and is commonly called
turbomachinary noise.

1) walls 2) shafts 3) flow 4) blades

PART D: Read the following passage carefully and then choose the best answer for each question.
Passage 1:

Before a design can be started, a decision must be made as to what
technologies will be incorporated. If a design is to be built in the near future,
it must use only currently- available technologies as well as existing engines
and avionics. If it is being designed to be built in the more distant future,
then an estimate of the technological state of the art must be made to
determine which emerging technologies will be ready for use at that time.

For example, an all-composite fighter has yet to enter high rate production
as of this date, but can confidently be predicted by 2010. On the other hand,
active laminar flow control by suction pumps shows great payoff
analytically, but would be considered by many to be too risky to incorporate
into a new transport jet in the near future. An optimistic estimate of the
technology availability will yield a lighter, cheaper aircraft to perform a
given mission, but will also result in a lighter development risk.

The actual design effort usually begins with a conceptual sketch. This is
the “Back of napkin” drawing of aerospace legend, and gives a rough
indication of what the design may look like. A good conceptual sketch will
include the approximate wing and tail geometries, the fuselage shape, and
the internal locations of the major components such as the engine, cockpit,
payload/passenger compartment, landing gear, and perhaps the fuel tanks.

How do the emerging technologies would affect an aircraft design?

1) It must be taken into account in high rate aircraft production.

2) It should be considered in all aircraft designs.

3) Aircraft design should be compatible with the available technologies at the production time.
4) The currently-available technologies must be used for engines and avionics



—

23-

24-

27-

28-

30-

Y axiwo v ) (wliw y 5 QS‘)T (90088 Sl & 9 S oo s

(TYR uS) pauazi L

A conceptual sketch indicates
1) drawings of aircraft specifications and systems

2) an estimation of the aircraft shape and configuration

3) the required technologies for aircraft production

4) wing, tails and fuselage arrangements

What is the benefit of a confident forcast of technology availability in aircraft design?
1) It would result in a more economical design.

2) It would decrease the risk involved in the design.

3) It would deviate the design from an optimum state.

4) It would match better to the given aircraft mission.

In the above passage “payoff” means -----—---- :
1) design 2) drawback 3) persuade 4) shortcoming
Passage 11:

Although humidity alone is usually not considered an important factor in reducing airplane performance,
it does contribute. It affects performance by taking up airspace that is normally available for vaporized fuel.
As humidity increases, less air enters the engine. This has the effect of causing a small increase in density
altitude. The moist air also tends to retard even fuel burning in the cylinder. When the relative humidity 1s
very high, the engine power loss may be as high as seven percent, and the airplane’s total takeoff and climb
performance may be reduced by as much as 10%. Under conditions of high humidity, you should take extra

time in setting the mixture control to the manufacturer’s specifications to provide the maximum available
power.

Performance reduction due to humidity is:

1) hazardous 2) inevitable 3) in tangible 4) ignorable

By airspace the author referes to:

1) altitude 2) content 3) mass 4) volume

When humidity increase, the air is:

1) constant 2) less dense 3) more dense 4) unaffected

In humid air, the engine runs:

1) smoothly 2) slowly 3) rougly 4) densly
Mixture control is associated with:

1) reciprocating engine  2) rocket engine 3) turbine engine 4) electric engine
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